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Algebra 1 .
REVIEW Unit 8: Quadratics

1. Which one of these graphs has a parent function

of y=x2? Q\A&dﬁé‘ﬂ (/‘

Name: K€ j

Date: Period:
y=a (x-h)*+k
2. What is the vertex of f(x) = %(x 77 -12?

(—7’;")

3. How does the graph of f(x) = x* differ ™
N

from the graph of g(x)=(x-2)" +8 ? S ‘ 2

{_g(x) is translated 2 units left and 8 units up from f(x)

v ]
1(x) is translated 2 units right and 8 unlts@ from
X)

(x) is translated 2 units left and 8 units down from
f(x)

D.g(x) is translated 2 units rig'(t and 8 units down from
f(x)

4. The graph of y=5x*-2 is shown below.

If the coefficient of x* is changed from 5

to a smaller, positive number to create a

new function, how will the graph of the
new function compare with the graph of

the original function? piCK Q +

A. The new graph will be narrower than

the original graph.
The new graph will be wider than the
original graph.
X The new graph will shift right from the
original graph.
X The new graph will shift down from

the original graph.
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5. What is the function of the graph that 8. Which of the following doesepresent
passes throu%h t%e point (-3, 4) and has 1 2 ,
a vertex of (- = (X-1)2+K the function f(x)=— 7% =37 check A
K y=2x-1)+4 calw L 3tor!
ﬁ./ y=2(x+1)7°+4 (X"("))z* (..q) A. ]
C. y=2(x-1)*-4 &+1)%-H R /

,? y=2(x+1)2—4] T ﬁ =+

6. Two points on the graph of a quadratic
function are shown on the grid below.
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What is the equation for the axis of symmetry 3 R
of the graph of this function?

Bace) 5 Away S x> B

/g/y— 6 | D.Yis equal to three less than the product of
y=

l one-fourth and the square of x. /
7. A function is described by the equation v # - t—f)(

Baae

f(x) = x*> -3. The replacement set for the domain

is {-1, 2, 4}. Which of the following is the
corresponding set for the range?

A

A {-2,0,6} - )(7’-—'
38 AP
C {-1,2, 4} AR

D {33, 1,4}




9. Which of the following does show a
function y=x*+k when k> -37?
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10.How would the graph of /y = —x? +2

compare with the graph offy = —x* —-107?
200 out!

A. The graph of y=-x*+2is 8 units

/1)
above the graph of y=-x*-10.

he graph of y=—x*+2is 12 units
above the graph of y=-x*-10.

p{ The graph of y=-x*+2 is narrower
than the graph of y=-x*-10.

% The graph of y=-x*+2is wider
than the graph of y=-x*-10

CoeLaC eVt didntronangl

11.Which lists the functions of the form
y=ax* in order from the widest to the

narrowest?  FAT Fmﬂ ONS
; , {gnore negah‘/e
A y=Zxty=——xly=1li y=2y?

1,2

12. Streamers being hung in the hallway
makes a parabola shape that has the equation

1 2
y= 5(x-—6)+10 where X and y are measured

In feet. What is the minimum distance the $
streamers hang above the floor?

Vevr+ex ((-0; ‘O>
C. 16 Minimuyy



#13-15. Answer the following questions
based upon the parabola given by the

graph f(x)=-2(x+5)° =3
'k Gé)("h)zi—K

("6|’%)

13.What is the vertex of the equation?
A. (5, -3 C. (2, -5)
B. (-5, -3)

D. (-2,5)
14. What is the equation of the axis of
Ssymmetry? X = % valneok
vexyt+ex

X

A.
B. x
C.

2
L
2

x=-3
i D. x=-5 ‘
15.The range of the function is... !

K. All real numbers v ), MAX.

B. y=-3
L’y<-5 \I < MmeX.
.y <-3 \"Vc}\\/l

#16-17.

The owner of a kennel that raises Saint

Bernards needs to build a dog run for a new
litter of puppies. He has 22 meters of chain

link fence to enclose all four sides. .The.
function of the area of the dog run is given by
A=11/-/2, where /is the length of the dog

run. The following is a graph of the situation.
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16. Find the value of f(10) X = |0

0™

17. Find f(x)=18 \‘: \8
X=7W
X= 9 M



